
וכיתהלתלמידיעבודהדף

כפל:
17 x 8 =
32 x 14 =
49 x 6 =

חילוק:
96 ÷ 6 =
135 ÷ 9 =
168 ÷ 12 =

חשבון:פעולותסדר
(3 + 5) x 4 =
16 ÷ (6 - 2) =
2 x (4 + 6) - 8 =

שברים:עםחשבוןפעולות
3
5 + 2

5 =
4
7 − 1

7 =
2
3 × 1

4 =
5
8 ÷ 1

2 =

גאומטריה:
ס"מ?8שלורוחבס"מ12שלאורךעםמלבןשלההיקיףמהו.1
ס"מ?5שלוהצלעשאורךריבועשלהשטחאתחשבו.2
ס"מ?6שלוהרדיוסשאורךהעיגולהיקףאתמצאו.3

מילוליות:בעיות
לשני?נשארועפרונותכמהחבריה.מחמשתאחדלכלעפרונות3נותנתהיאעפרונות.24ישלשני.1
בקופסא?ישאדומותגולותכמהאדומות,מהגולותגולות.48ישבקופסא.2 1

4

היום?באותוהכלסךנמכרועוגיותכמההצוהוריים,אחרעוגיות18ובבוקרעוגיות35מכרהמאפיה.3

החוקיות:אתורשמוהחסרהאיבראתהשלימוסדרות-
2, 6, 10, 14, ____
3, 6, 9, 12, 15, ____

ועשרוניים:פשוטיםשברים
עשרונילשבראתהמירו.1 3

4

פשוטלשבר0.6אתהמירו.2
=<,>,הנכון:הסימןאתרשמו.3

__0.8 5
7


